th2 9o A M 0 = aABC 9] gJ4olth. H O oA BC o WH
Aol ¥hbe D e uf, OB 9] Zel&?

A




cm



() [] o

A A oA BC ofl ™ 49 45 D 2 ot
AABD ¢} AACD ©f| A

1)/B=/C

ii)/ADB = /ADC ©]1

A2 o] Al W2he] 2719] 92 180° o2&
(BAD = /CAD

i)ADE &%

wElA] AABD = aACD 0]B2 [ |§HE

- AABC £ ol T oI,

[SYRA AR = Ry |

—_

YEE
-



4. o= 2™AA B = 90° 1 AAA4AE ABC oA A L0 = A4
WA, e]aloltt, A =60° Q W, /BPC <] 7|2 FLotoia},




Zt7F G,H °|tt. AGBE 9] Ho]7} 24 o],
BE:EC=2:19% o, H3JAH3 ABCD
o] Wol& g of Taf|A Hrebd 729

@D 6a @ 9q 3 12a @ 16a B 24a



